EML 3013

Dynamic Systems I

Lab-4


Spring 2007

Due March 1, 2007 in lab period
The ball has a mass of 1 kg is attached to a weightless cord (2 m long).  It is released from rest from =0° until the string strikes a horizontal rod placed at the middle of the cord when =30° as shown.  Determine 
(a) The speed of the ball when the ball reaches its lowest point.  
(b) The tension along the cord.

(c) The force acting on the horizontal rod.  

You have to calculate this problem using two approaches: 
(1) Using the tangential/normal equation of motion and integrate with respect to  first, then with respect to 
(2) Using the concept of work and energy.
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